

**THE CURVATURE TENSORS OF $Sp(2)/SU(2)$ AND
 $SU(5)/Sp(2) \times S^1$ OF BERGER**

BY YOSHIYUKI WATANABE

Introduction.

In Riemannian Geometry, one of the most interesting problems is to find all Einsteinian manifolds. But this problem is not so easy, because there exist Einsteinian manifolds of various sorts such as symmetric, homogeneous but not symmetric (cf. [8], [11], [12]) and non-homogeneous ones (cf. [2], [4], [13]). Then A. Besse has suggested the research for Einsteinian manifolds under the more restricted condition (see [3], p. 165),

$$(*) \quad R_{i\,pqr}R_j^{\,pqr} = \text{constant } g_{ij},$$

where $g=(g_{ij})$ is the Riemannian metric and $R=(R^i_{\,jkl})$ the curvature tensor. Its typical examples are an irreducible locally symmetric space and a harmonic Riemannian manifold, because the former satisfies $\nabla_k(R_{i\,pqr}R_j^{\,pqr})=0$ and the latter does

$$(**) \quad R^p_{\,i\,j\,q}R^q_{\,k\,l\,p}X^iX^jX^kX^l = \text{constant}^{1)},$$

for any unit tangent vector $X=(X^i)$ (cf. [10]). Then we are interested in an Einsteinian manifold satisfying the condition (*), which is neither harmonic nor locally symmetric.

In this paper, we prove the following two theorems.

THEOREM 1. *$Sp(2)/SU(2)$ is an Einsteinian manifold which satisfies the condition (*), but does not the condition (**).*

THEOREM 2. *Let $M=G/H$ be a simply connected normal homogeneous Einsteinian manifold of strictly positive curvature, which satisfies the condition (**). Then M is homomorph to a Riemannian symmetric space of rank one.*

Because M. Berger [1] has classified all simply connected normal homogeneous Riemannian manifolds of strictly positive curvature, and with the ex-

1) Prof. Berger and Prof. Vanhecke have informed me that P. Carpenter, A. Gray and T. J. Willmore have obtained some symmetric spaces satisfying (**).

Received September 20, 1980.

ceptions of two, viz, $Sp(2)/SU(2)$ and $SU(5)/Sp(2) \times S^1$, all are homeomorphic to a Riemannian symmetric space of rank one.

The author wishes to express his sincere thanks to Prof. S. Ishihara, Prof. S. Tachibana and Prof. K. Takamatsu for their valuable suggestions and encouragements.

1. A normal homogeneous Riemannian manifold.

G will always be a Lie group, H a closed subgroup, G/H the space of left cosets of H , $\pi: G \rightarrow G/H$ the natural projection. The Lie algebras of G and H will be denoted by \mathfrak{g} and \mathfrak{h} respectively. G/H is said to be a normal homogeneous Riemannian manifold if the metric on G/H is obtained as follows: Let there exists a positive definite inner product $\langle \cdot, \cdot \rangle$ on \mathfrak{g} satisfying $\langle [X, Y], Z \rangle = \langle X, [Y, Z] \rangle$ for all $X, Y, Z \in \mathfrak{g}$, and let \mathfrak{m} be the orthogonal complement of \mathfrak{h} . Then the decomposition $\mathfrak{g} = \mathfrak{m} + \mathfrak{h}$ is reductive, that is, $[\mathfrak{m}, \mathfrak{h}] \subset \mathfrak{m}$, and the restriction of the inner product to \mathfrak{m} , (which is identified with the tangent space at $\pi(H)$), induces a Riemannian metric on G/H by the action of G on G/H . The curvature tensors of normal homogeneous Riemannian manifolds are well known (see [9]); for $X, Y, Z \in \mathfrak{m}$,

$$(1.1) \quad R(X, Y)Z = [[X, Y]_{\mathfrak{h}}, Z] + 1/2[[X, Y]_{\mathfrak{m}}, Z]_{\mathfrak{m}} \\ + 1/4[[Y, Z]_{\mathfrak{m}}, X]_{\mathfrak{m}} + 1/4[[Z, X]_{\mathfrak{m}}, Y]_{\mathfrak{m}},$$

where $[X, Y]_{\mathfrak{h}}$ (resp. $[X, Y]_{\mathfrak{m}}$) denotes the \mathfrak{h} (resp. \mathfrak{m})-components of $[X, Y]$.

Now choosing a basis $\{e_{\alpha}\}$ of \mathfrak{m} , we obtain, for $Y \in \mathfrak{m}$,

$$(1.2) \quad R(e_{\alpha}, Y)Y = [[e_{\alpha}, Y]_{\mathfrak{h}}, Y] + 1/4[[e_{\alpha}, Y]_{\mathfrak{m}}, Y]_{\mathfrak{m}},$$

from which

$$(1.3) \quad \langle R(e_{\alpha}, Y)Y, e_{\alpha} \rangle = \langle [[e_{\alpha}, Y]_{\mathfrak{h}}, Y], e_{\alpha} \rangle + 1/4 \langle [e_{\alpha}, Y]_{\mathfrak{m}}, e_{\alpha} \rangle \\ = -\langle [e_{\alpha}, Y]_{\mathfrak{h}}, [e_{\alpha}, Y]_{\mathfrak{h}} \rangle - 1/4 \langle [e_{\alpha}, Y]_{\mathfrak{m}}, [e_{\alpha}, Y]_{\mathfrak{m}} \rangle,$$

since $\langle [X, Y], Z \rangle = \langle X, [Y, Z] \rangle$.

2. $Sp(2)/SU(2)$.

2.1. $Sp(2)$ is the symplectic 2-group and $SU(2)$ is the special unitary 2-group. Now an element of Lie algebra $sp(2)$ is skew-Hermitian of the form

$$\begin{pmatrix} a_{11} & a_{12} & a_{13} & a_{14} \\ -\bar{a}_{12} & -a_{11} & \bar{a}_{14} & -\bar{a}_{13} \\ -\bar{a}_{13} & -a_{14} & a_{33} & a_{34} \\ -\bar{a}_{14} & a_{13} & -\bar{a}_{34} & -\bar{a}_{33} \end{pmatrix}$$

where a_{11}, a_{22} are pure imaginary, and the rest are arbitrary complex numbers. Let $P_1, P_2, P_3, Q_1, Q_2, Q_3, R_1, R_2, R_3, S_0$ be matrices in $sp(2)$ (cf. [5]) such that

$$\begin{aligned}
P_1: a_{11} &= -a_{33} = \iota, & \text{otherwise } a_{ij} &= 0, \\
P_2: a_{13} &= -a_{31} = 1, & \text{otherwise } a_{ij} &= 0, \\
P_3: a_{13} &= a_{31} = \iota, & \text{otherwise } a_{ij} &= 0, \\
Q_1: a_{22} &= -a_{44} = \iota, & \text{otherwise } a_{ij} &= 0, \\
Q_2: a_{24} &= -a_{42} = 1, & \text{otherwise } a_{ij} &= 0, \\
Q_3: a_{24} &= -a_{42} = i, & \text{otherwise } a_{ij} &= 0, \\
R_1: a_{12} &= a_{21} = -a_{34} = -a_{43} = i, & \text{otherwise } a_{ij} &= 0, \\
R_2: a_{14} &= a_{23} = -a_{32} = -a_{41} = 1, & \text{otherwise } a_{ij} &= 0, \\
R_3: a_{14} &= a_{23} = a_{32} = a_{41} = \iota, & \text{otherwise } a_{ij} &= 0, \\
S_0: a_{12} &= -a_{21} = a_{34} = -a_{43} = 1, & \text{otherwise } a_{ij} &= 0,
\end{aligned}$$

For completeness, we list the Lie multiplication table: We denote a permutation of numbers 1, 2, 3 by β and its signum by $\text{sgn}(\beta)$. Then we have

$$\begin{aligned}
(2.1) \quad [P_{\beta(1)}, P_{\beta(2)}] &= 2 \text{sgn}(\beta) P_{\beta(3)}, \quad [Q_{\beta(1)}, Q_{\beta(2)}] = 2 \text{sgn}(\beta) Q_{\beta(3)}, \\
[P_{\beta(1)}, R_{\beta(2)}] &= \text{sgn}(\beta) R_{\beta(3)}, \quad [Q_{\beta(1)}, R_{\beta(2)}] = \text{sgn}(\beta) R_{\beta(3)}, \\
[R_{\beta(1)}, R_{\beta(2)}] &= 2 \text{sgn}(\beta) (Q_{\beta(3)} + P_{\beta(3)}), \quad [P_j, Q_k] = 0, \quad j, k = 1, 2, 3, \\
[R_j, S_0] &= 2(Q_j - P_j), \quad [P_j, S_0] = R_j, \quad [Q_j, S_0] = -R_j, \\
[P_j, R_j] &= -S_0, \quad [Q_j, R_j] = S_0.
\end{aligned}$$

Setting

$$\begin{aligned}
H_1 &= 3/2 P_1 + 1/2 Q_1, \quad H_2 = Q_2 + \sqrt{3}/2 S_0, \quad H_3 = Q_3 + \sqrt{3}/2 R_1, \\
E_1 &= 1/2 P_1 - 3/2 Q_1, \quad E_2 = \sqrt{3}/2 Q_2 - 1/\sqrt{2} S_0, \quad E_3 = \sqrt{3}/2 Q_3 - 1/\sqrt{2} R_1, \\
E_4 &= \sqrt{5}/2 P_2, \quad E_5 = \sqrt{5}/2 P_3, \quad E_6 = \sqrt{5}/2 R_2, \quad E_7 = \sqrt{5}/2 R_3,
\end{aligned}$$

we can get the Lie multiplication table:

$$\begin{aligned}
(2.2) \quad [H_1, H_2] &= H_3, \quad [H_1, H_3] = -H_2, \quad [H_2, H_3] = H_1, \\
[H_1, E_1] &= 0, \quad [H_1, E_2] = E_3, \quad [H_1, E_3] = -E_2, \\
[H_1, E_4] &= 3E_5, \quad [H_1, E_5] = -E_4, \quad [H_1, E_6] = 2E_7, \\
[H_1, E_7] &= -2E_6, \quad [H_2, E_1] = \sqrt{6} E_3, \quad [H_1, E_2] = \sqrt{5}/2 E_6,
\end{aligned}$$

$$\begin{aligned}
[H_2, E_3] &= -\sqrt{6}E_1 + \sqrt{5/2}E_7, & [H_2, E_4] &= -\sqrt{3/2}E_6, \\
[H_2, E_5] &= -\sqrt{3/2}E_7, & [H_2, H_6] &= -\sqrt{5/2}E_2 + \sqrt{3/2}E_4, \\
[H_2, E_7] &= -\sqrt{5/2}E_3 + \sqrt{3/2}E_5, & [H_3, E_1] &= -\sqrt{6}E_2, \\
[H_3, E_2] &= \sqrt{6}E_1 + \sqrt{5/2}E_7, & [H_3, E_3] &= -\sqrt{5/2}E_6, \\
[H_3, E_4] &= \sqrt{3/2}E_7, & [H_3, E_5] &= -\sqrt{3/2}E_6, \\
[H_3, E_6] &= \sqrt{5/2}E_3 + \sqrt{3/2}E_5, & [H_3, E_7] &= -\sqrt{5/2}E_2 - \sqrt{3/2}E_4, \\
[E_1, E_2] &= -E_3 - \sqrt{6}H_3, & [E_1, E_3] &= E_2 + \sqrt{6}H_2, \\
[E_1, E_4] &= E_6, & [E_1, E_5] &= -E_4, & [E_1, E_6] &= -E_7, \\
[E_1, E_7] &= E_6, & [E_2, E_3] &= -E_1 + H_1, & [E_2, E_4] &= E_6, \\
[E_2, E_5] &= E_7, & [E_2, E_6] &= -E_4 + \sqrt{5/2}H_2, \\
[E_2, E_7] &= -E_5 + \sqrt{5/2}H_3, & [E_3, E_4] &= -E_7, \\
[E_3, E_5] &= E_6, & [E_3, E_6] &= -E_5 - \sqrt{5/2}H_3, \\
[E_3, E_7] &= E_4 + \sqrt{5/2}H_2, & [E_4, E_5] &= E_1 + 3H_1, \\
[E_4, E_6] &= E_2 - \sqrt{3/2}H_2, & [E_4, E_7] &= -E_3 + \sqrt{3/2}H_3, \\
[E_5, E_6] &= E_3 - \sqrt{3/2}H_3, & [E_5, E_7] &= E_2 - \sqrt{3/2}H_2, \\
[E_6, E_7] &= -E_1 + 2H_1.
\end{aligned}$$

Here we note: (i) $\{H_1, H_2, H_3, E_1, \dots, E_7\}$ are linearly independent and therefore form a basis of $sp(2)$. (ii) Furthermore, if as an inner product on $sp(2)$ we take $\langle X, Y \rangle = -(1/5)$ trace (XY) , then $\{H_1, H_2, H_3, E_1, \dots, E_7\}$ is an orthonormal basis of $sp(2)$ and also (iii) the inner product is invariant under $Ad(Sp(2))$. (iv) Finally, one can show that $su(2) = \text{linear span}\{H_1, H_2, H_3\}$.

2.2. By (1.1) and (2.2), we calculate $R(E_\alpha, E_\beta)E_\gamma$:

$$\begin{aligned}
(2.3) \quad R(E_1, E_2)E_1 &= 25/4E_2, & R(E_1, E_2)E_2 &= -25/4E_1 - \sqrt{15}E_7, \\
R(E_1, E_2)E_3 &= \sqrt{15}E_6, & R(E_1, E_2)E_4 &= -2E_7, \\
R(E_1, E_2)E_5 &= 2E_6, & R(E_1, E_2)E_6 &= -\sqrt{15}E_3 - 2E_5, \\
R(E_1, E_2)E_7 &= \sqrt{15}E_2 + 2E_4. \\
(2.4) \quad R(E_1, E_3)E_1 &= 25/4E_3, & R(E_1, E_3)E_2 &= \sqrt{15}E_6, \\
R(E_1, E_3)E_3 &= -25/4E_1 + \sqrt{15}E_7, & R(E_1, E_3)E_4 &= -2E_6, \\
R(E_1, E_3)E_5 &= -2E_7, & R(E_1, E_3)E_6 &= -\sqrt{15}E_2 + 2E_4,
\end{aligned}$$

$$R(E_1, E_3)E_7 = -\sqrt{15}E_3 - 2E_5.$$

$$(2.5) \quad \begin{aligned} R_1(E_1, E_4)E_1 &= 1/4E_4, & R(E_1, E_4)E_2 &= -E_7, \\ R(E_1, E_4)E_3 &= -E_6, & R(E_1, E_4)E_4 &= -1/4E_1, \\ R(E_1, E_4)E_5 &= 0, & R(E_1, E_4)E_6 &= E_3, \\ R(E_1, E_4)E_7 &= E_2. \end{aligned}$$

$$(2.6) \quad \begin{aligned} R(E_1, E_5)E_1 &= 1/4E_5, & R(E_1, E_5)E_2 &= E_6, \\ R(E_1, E_5)E_3 &= -E_7, & R(E_1, E_5)E_4 &= 0, \\ R(E_1, E_5)E_5 &= -1/4E_1, & R(E_1, E_5)E_6 &= -E_2, \\ R(E_1, E_5)E_7 &= E_3. \end{aligned}$$

$$(2.7) \quad \begin{aligned} R(E_1, E_6)E_1 &= 1/4E_6, & R(E_1, E_6)E_2 &= -E_5, \\ R(E_1, E_6)E_3 &= E_4, & R(E_1, E_6)E_4 &= -E_3, \\ R(E_1, E_6)E_5 &= E_2, & R(E_1, E_6)E_6 &= -1/4E_1, \\ R(E_1, E_6)E_7 &= 0. \end{aligned}$$

$$(2.8) \quad \begin{aligned} R(E_1, E_7)E_1 &= 1/4E_7, & R(E_1, E_7)E_2 &= E_4, \\ R(E_1, E_7)E_3 &= E_5, & R(E_1, E_7)E_4 &= -E_2, \\ R(E_1, E_7)E_5 &= -E_3, & R(E_1, E_7)E_6 &= 0, \\ R(E_1, E_7)E_7 &= -1/4E_1. \end{aligned}$$

$$(2.9) \quad \begin{aligned} R(E_2, E_3)E_1 &= 0, & R(E_2, E_3)E_2 &= 5/4E_3, \\ R(E_2, E_3)E_3 &= -5/4E_2, & R(E_2, E_3)E_4 &= 2E_5, \\ R(E_2, E_3)E_5 &= -2E_4, & R(E_2, E_3)E_6 &= 3E_7, \\ R(E_2, E_3)E_7 &= -3E_6. \end{aligned}$$

$$(2.10) \quad \begin{aligned} R(E_2, E_4)E_1 &= E_7, & R(E_2, E_4)E_2 &= 1/4E_4, \\ R(E_2, E_4)E_3 &= E_5, & R(E_2, E_4)E_4 &= -1/4E_2, \\ R(E_2, E_4)E_5 &= -E_3, & R(E_2, E_4)E_6 &= 0, \\ R(E_2, E_4)E_7 &= -E_1. \end{aligned}$$

$$(2.11) \quad \begin{aligned} R(E_2, E_5)E_1 &= -E_6, & R(E_2, E_5)E_2 &= 1/4E_5, \\ R(E_2, E_5)E_3 &= -E_4, & R(E_2, E_5)E_4 &= E_3, \end{aligned}$$

$$\begin{aligned}
& R(E_2, E_5)E_5 = -1/4E_2 & R(E_2, E_5)E_6 = E_1, \\
& R(E_2, E_5)E_7 = 0. \\
(2.12) \quad & R(E_2, E_6)E_1 = \sqrt{15}E_3 + E_5, & R(E_2, E_6)E_2 = 11/4E_6, \\
& R(E_2, E_6)E_3 = -\sqrt{15}E_1 + 3/2E_7, & R(E_2, E_6)E_4 = -\sqrt{15}/2E_6, \\
& R(E_2, E_6)E_5 = -\sqrt{15}/2E_7 - E_1, & R(E_2, E_6)E_6 = -11/4E_2 + \sqrt{15}/2E_4, \\
& R(E_2, E_6)E_7 = -3/2E_3 + \sqrt{15}/2E_5. \\
(2.13) \quad & R(E_2, E_7)E_1 = -\sqrt{15}E_2 - E_4, & R(E_2, E_7)E_2 = \sqrt{15}E_1 + 11/4E_7, \\
& R(E_2, E_7)E_3 = -3/2E_6, & R(E_2, E_7)E_4 = E_1 + \sqrt{15}/2E_7, \\
& R(E_2, E_7)E_5 = -\sqrt{15}/2E_6, & R(E_2, E_7)E_6 = 3/2E_3 + \sqrt{15}/2E_5, \\
& R(E_2, E_7)E_7 = -11/4E_2 - \sqrt{15}/2E_4. \\
(2.14) \quad & R(E_3, E_4)E_1 = E_6, & R(E_3, E_4)E_2 = -E_5, \\
& R(E_3, E_4)E_3 = 1/4E_4, & R(E_3, E_4)E_4 = -1/4E_3, \\
& R(E_3, E_4)E_5 = E_2, & R(E_3, E_4)E_5 = -E_1, \\
& R(E_3, E_4)E_7 = 0. \\
(2.15) \quad & R(E_3, E_5)E_1 = E_7, & R(E_3, E_5)E_2 = E_4, \\
& R(E_3, E_5)E_3 = 1/4E_5, & R(E_3, E_5)E_4 = -E_2, \\
& R(E_3, E_5)E_5 = -1/4E_3, & R(E_3, E_5)E_6 = 0, \\
& R(E_3, E_5)E_7 = -E_1. \\
(2.16) \quad & R(E_3, E_6)E_1 = \sqrt{15}E_2 - E_4, & R(E_3, E_6)E_2 = -\sqrt{15}E_1 - 3/2E_7, \\
& R(E_3, E_6)E_3 = 11/4E_6, & R(E_3, E_6)E_4 = -\sqrt{15}E_7 + E_1, \\
& R(E_3, E_6)E_5 = \sqrt{15}/2E_6, & R(E_3, E_6)E_6 = -11/4E_3 - 15/2E_5, \\
& R(E_3, E_6)E_7 = 3/2E_2 + \sqrt{15}/2E_4. \\
(2.17) \quad & R(E_3, E_7)E_1 = \sqrt{15}E_3 + E_5, & R(E_3, E_7)E_2 = 3/2E_6, \\
& R(E_3, E_7)E_3 = -\sqrt{15}E_1 + 11/4E_7, & R(E_3, E_7)E_4 = -\sqrt{15}/2E_6, \\
& R(E_3, E_7)E_5 = E_1 - \sqrt{15}E_7, & R(E_3, E_7)E_6 = -3/2E_2 + \sqrt{15}/2E_4, \\
& R(E_3, E_7)E_7 = -11/4E_3 + \sqrt{15}/2E_5. \\
(2.18) \quad & R(E_4, E_5)E_1 = 0, & R(E_4, E_5)E_2 = 2E_3,
\end{aligned}$$

$$\begin{aligned}
& R(E_4, E_5)E_3 = -2E_2, & R(E_4, E_5)E_4 = 37/4E_5, \\
& R(E_4, E_6)E_5 = -37/4E_4, & R(E_4, E_6)E_6 = 5E_7, \\
& R(E_4, E_6)E_7 = -5E_6. \\
(2.19) \quad & R(E_4, E_6)E_1 = -2E_3, & R(E_4, E_6)E_2 = -\sqrt{15}/2E_6, \\
& R(E_4, E_6)E_3 = 2E_1 - \sqrt{15}/2E_7, & R(E_4, E_6)E_4 = 7/4E_6, \\
& R(E_4, E_6)E_5 = 5/2E_7, & R(E_4, E_6)E_6 = \sqrt{15}/2E_2 - 7/4E_4, \\
& R(E_4, E_6)E_7 = \sqrt{15}/2E_2 - 5/2E_5. \\
(2.20) \quad & R(E_4, E_7)E_1 = -2E_2, & R(E_4, E_7)E_2 = 2E_1 + \sqrt{15}/2E_7, \\
& R(E_4, E_7)E_3 = -\sqrt{15}/2E_6, & R(E_4, E_7)E_4 = 7/4E_7, \\
& R(E_4, E_7)E_5 = -5/2E_6, & R(E_4, E_7)E_6 = \sqrt{15}/2E_3 + 5/2E_5, \\
& R(E_4, E_7)E_7 = -\sqrt{15}/2E_2 - 7/4E_4. \\
(2.21) \quad & R(E_5, E_6)E_1 = 2E_2, & R(E_5, E_6)E_2 = -2E_1 - \sqrt{15}/2E_7, \\
& R(E_5, E_6)E_3 = \sqrt{15}/2E_6, & R(E_5, E_6)E_5 = -5/2E_7, \\
& R(E_5, E_6)E_5 = 7/4E_6, & R(E_5, E_6)E_6 = -\sqrt{15}/2E_3 - 7/4E_5, \\
& R(E_5, E_6)E_7 = \sqrt{15}/2E_2 + 5/2E_4. \\
(2.22) \quad & R(E_5, E_7)E_1 = -2E_3, & R(E_5, E_7)E_2 = -\sqrt{15}/2E_6, \\
& R(E_5, E_7)E_3 = 2E_1 - \sqrt{15}/2E_7, & R(E_5, E_7)E_4 = 5/2E_6, \\
& R(E_5, E_7)E_5 = 7/4E_7, & R(E_5, E_7)E_6 = \sqrt{15}/2E_2 - 5/2E_4, \\
& R(E_5, E_7)E_7 = \sqrt{15}/2E_3 - 7/4E_5. \\
(2.23) \quad & R(E_6, E_7)E_1 = 0, & R(E_6, E_7)E_2 = 3E_3, \\
& R(E_6, E_7)E_3 = -3E_2, & R(E_6, E_7)E_4 = 5E_5, \\
& R(E_6, E_7)E_5 = -5E_4, & R(E_6, E_7)E_6 = 17/4E_7, \\
& R(E_6, E_7)E_7 = -17/4E_6.
\end{aligned}$$

2.3. For the computation of Ricci curvature, we first give $[E_\alpha, Y]$ ($\alpha=1, \dots, 7$), $Y = \sum a_\beta E_\beta \in (su(2))^{\perp}$: By (2.2), we have

$$\begin{aligned}
[E_1, Y] &= \sqrt{6}a_3H_2 - \sqrt{6}a_2H_3 \\
&\quad + a_3E_2 - a_2E_3 - a_5E_4 + a_4E_5 + a_7E_6 - a_6E_7,
\end{aligned}$$

$$\begin{aligned}
[E_2, Y] &= a_3 H_1 + \sqrt{5/2} a_6 H_2 + (\sqrt{6} a_1 + \sqrt{5/2} a_7) H_3 \\
&\quad - a_8 E_1 + a_1 E_3 - a_6 E_4 - a_7 E_5 + a_4 E_6 + a_5 E_7, \\
[E_3, Y] &= -a_2 H_1 + (-\sqrt{6} a_1 + \sqrt{5/2} a_7) H_2 - \sqrt{5/2} a_6 H_3 \\
&\quad + a_2 E_1 - a_1 E_2 + a_7 E_4 - a_6 E_5 + a_5 E_6 - a_4 E_7, \\
[E_4, Y] &= 3a_5 H_1 - \sqrt{3/2} a_6 H_2 + \sqrt{3/2} a_7 H_3 \\
&\quad + a_5 E_1 - a_6 E_2 - a_7 E_3 - a_1 E_5 - a_2 E_6 + a_3 E_7, \\
[E_5, Y] &= -3a_1 H_1 - \sqrt{3/2} a_7 H_2 - \sqrt{3/2} a_6 H_3 \\
&\quad - a_4 E_1 + a_7 E_2 - a_6 E_3 + a_1 E_4 - a_3 E_6 - a_2 E_7, \\
[E_6, Y] &= 2a_7 H_1 + (-\sqrt{5/2} a_2 + \sqrt{3/2} a_4) H_2 + (\sqrt{5/2} a_3 + \sqrt{3/2} a_5) H_3 \\
&\quad - a_7 E_1 - a_4 E_2 - a_5 E_3 + a_2 E_4 + a_3 E_5 + a_1 E_7, \\
[E_7, Y] &= -2a_6 H_1 + (\sqrt{3/2} a_5 - \sqrt{5/2} a_3) H_2 + (-\sqrt{5/2} a_2 - \sqrt{3/2} a_4) H_3 \\
&\quad + a_6 E_1 - a_5 E_2 + a_4 E_3 - a_3 E_4 + a_2 E_5 - a_1 E_3.
\end{aligned}$$

Hence by using (1.3), we have

$$\begin{aligned}
\text{Ric}(Y, Y) &= -\sum \langle R(E_\alpha, Y)Y, E_\alpha \rangle \\
&= \sum \{ \langle E_\alpha, Y \rangle_{\mathfrak{h}}, [E_\alpha, Y]_{\mathfrak{h}} \rangle + 1/4 \langle [E_\alpha, Y]_{\mathfrak{r}}, [E_\alpha, Y]_{\mathfrak{m}} \rangle \} \\
&= 12 \sum a_\alpha^2 + (27/2) \sum a_\alpha^2 = (51/2) \langle Y, Y \rangle.
\end{aligned}$$

This shows that $Sp(2)/SU(2)$ is Einsteinian.²⁾

Next, after a long calculation using all equations of subsection 2.2, we obtain

$$\sum \langle R(E_\alpha, E_\gamma)E_\delta, R(E_\beta, E_\gamma)E_\delta \rangle = (1299/4) \delta_{\alpha\beta}$$

This concludes that $Sp(2)/SU(2)$ satisfies the condition (*).

Finally, we note that $Sp(2)/SU(2)$ does not satisfy the condition (**), because for example, we have

$$\sum \langle R(E_\alpha, E_1)E_1, R(E_\alpha, E_1)E_1 \rangle = 627/8$$

and

$$\sum \langle R(E_\alpha, E_7)E_7, R(E_\alpha, E_7)E_7 \rangle = 435/8,$$

taking account of a part of the equations of subsection 2.2. Thus, summing up these facts, we have

2) Prof. Berger has pointed out that this fact was shown by D'Atri and Ziller ([6]). I wish to express my thanks to him.

THEOREM 1. $Sp(2)/SU(2)$ is an Einsteinian manifold which satisfies the condition (*), but does not the condition (**).

Remark. The pinching (1/37) of $Sp(2)/SU(2)$ has been calculated by H.I. Eliasson [7].

3. $SU(5)/Sp(2) \times S^1$.

We show that $SU(5)/Sp(2) \times S^1$ is not Einsteinian. $SU(5)$ is the special unitary 5-group and $Sp(2)$ is the symplectic 2-group. Then we denote the Lie algebra of $SU(5)$ by $su(5)$ and the Lie algebra of $Sp(2) \times S^1$ by $sp(2) + \mathbf{R}$.

Let ε_{jk} be the matrix with a 1 in the j th row and k th column and 0 elsewhere: $\varepsilon_{jk} = (\delta_{jr}\delta_{ks})$. Then setting

$$i^2 = -1, \quad A_{jk} = i(\varepsilon_{jj} - \varepsilon_{kk}), \quad B_{jk} = \varepsilon_{jk} - \varepsilon_{kj}, \quad C_{jk} = i(\varepsilon_{jk} + \varepsilon_{kj}),$$

we have

$$[A_{rj}, A_{kl}] = -\delta_{rk}B_{rk} + \delta_{rl}B_{rl} + \delta_{jk}B_{jk} - \delta_{jl}B_{jl},$$

$$[A_{rj}, B_{kl}] = \delta_{rk}C_{rl} - \delta_{rl}C_{rk} - \delta_{jk}C_{jl} + \delta_{jl}C_{jk},$$

$$[A_{rj}, C_{kl}] = -\delta_{rk}B_{rl} - \delta_{rl}B_{rk} + \delta_{jk}B_{jl} + \delta_{jl}B_{jk},$$

$$[B_{rj}, B_{rl}] = \delta_{jk}B_{rl} - \delta_{jl}B_{rk} - \delta_{rk}B_{jl} + \delta_{rl}B_{jk},$$

$$[B_{rj}, C_{kl}] = \delta_{jl}C_{rk} + \delta_{jk}C_{rl} - \delta_{rl}C_{jk} - \delta_{rk}C_{jl},$$

$$[C_{rj}, C_{kl}] = -\delta_{jk}B_{rl} - \delta_{jl}B_{rk} - \delta_{rk}B_{jl} - \delta_{rl}B_{jk}.$$

Furthermore, setting $\langle X, Y \rangle = -(1/2) \text{trace}(XY)$, $X, Y \in su(5)$, we obtain an orthogonal decomposition (cf. [5]):

$$S_1 = A_{12}, \quad S_2 = B_{12}, \quad S_3 = C_{12}, \quad S_4 = 1/\sqrt{2}(B_{13} - B_{24})$$

$$S_5 = 1/\sqrt{2}(C_{13} + C_{24}), \quad S_6 = 1/\sqrt{2}(B_{14} + B_{23}), \quad S_7 = 1/\sqrt{2}(C_{14} - C_{23}),$$

$$S_8 = A_{34}, \quad S_9 = B_{34}, \quad S_{10} = C_{34}, \quad S_{11} = 1/\sqrt{3}(2A_{15} - A_{12}),$$

$$Q_1 = \sqrt{3}/2 A_{13} - 1/\sqrt{6} A_{12} - 1/\sqrt{6} A_{15}, \quad Q_2 = 1/\sqrt{2}(B_{18} + B_{24}),$$

$$Q_3 = 1/\sqrt{2}(C_{13} - C_{24}), \quad Q_4 = 1/\sqrt{2}(B_{14} - B_{23}), \quad Q_5 = 1/\sqrt{2}(C_{14} + C_{23}),$$

$$Q_6 = B_{15}, \quad Q_7 = C_{15}, \quad Q_8 = B_{25}, \quad Q_9 = C_{25}, \quad Q_{10} = B_{35},$$

$$Q_{11} = C_{35}, \quad Q_{12} = B_{45}, \quad Q_{13} = C_{45},$$

where S_1, \dots, S_{11} span $sp(2) + \mathbf{R}$ and Q_1, \dots, Q_{13} span $(sp(2) \oplus \mathbf{R})^\perp$.

Now for the purpose of calculations of Ricci curvature $\text{Ric}(Q_2, Q_2)$ and $\text{Ric}(Q_{13}, Q_{13})$, we need the following identities:

$$\begin{aligned}
(3.1) \quad & [Q_1, Q_2] = 5/2\sqrt{6}S_5 + \sqrt{6}/4Q_3, \quad [Q_2, Q_3] = S_1 - S_8. \\
& [Q_2, Q_4] = S_2 - S_9, \quad [Q_2, Q_5] = S_3 - S_{10}, \\
& [Q_2, Q_6] = -1/\sqrt{2}Q_{10}, \quad [Q_2, Q_7] = -1/\sqrt{2}Q_{11}, \\
& [Q_2, Q_8] = -1/\sqrt{2}Q_{12}, \quad [Q_2, Q_9] = -1/\sqrt{2}Q_{13}, \\
& [Q_2, Q_{10}] = 1/\sqrt{2}Q_6, \quad [Q_2, Q_{11}] = 1/\sqrt{2}Q_7, \\
& [Q_2, Q_{12}] = 1/\sqrt{2}Q_8, \quad [Q_2, Q_{13}] = 1/\sqrt{2}Q_9. \\
(3.2) \quad & [Q_1, Q_{13}] = 1/\sqrt{6}Q_{12}, \quad [Q_3, Q_{13}] = 1/\sqrt{2}Q_8, \\
& [Q_4, Q_{13}] = 1/\sqrt{2}Q_7, \quad [Q_5, Q_{13}] = -1/\sqrt{2}Q_6, \\
& [Q_6, Q_{13}] = 1/\sqrt{2}(S_7 + Q_5), \quad [Q_7, Q_{13}] = -1/\sqrt{2}(S_6 + Q_4), \\
& [Q_8, Q_{13}] = 1/\sqrt{2}(S_5 - Q_3), \quad [Q_9, Q_{13}] = 1/\sqrt{2}(S_4 - Q_2), \\
& [Q_{10}, Q_{13}] = S_{10}, \quad [Q_{11}, Q_{13}] = -S_9, \\
& [Q_{12}, Q_{13}] = -S_8 + 1/\sqrt{3}S_{11} - \sqrt{2/3}Q_1.
\end{aligned}$$

(1.3), (3.1) and (3.2) imply that

$$\text{Ric}(Q_2, Q_2) \neq \text{Ric}(Q_{13}, Q_{13}).$$

This shows that $SU(5)/Sp(2) \times S^1$ is not Einsteinian.

BIBLIOGRAPHY

- [1] M. BERGER; Les varietes riemanniens homogenes normales simplement connexes a courbure strictement positive, Ann. Scuola Norm. Sup. Pisa, **15** (1961), 179-246.
- [2] L. BERARD BERGERY; Une metrique D'Einstein sur la somme connexe de deux projectifs complexes de dimension 2, to appear.
- [3] A.L. BESSE; Manifolds all of whose geodesics are closed, Ergebnisse der Mathematik, vol. **93**, Springer-Verlag, Berlin and New York, 1978.
- [4] E. CALABI; A construction of non-homogeneous Einstein metrics, Proceedings of Symposia in Pure Mathematics, vol. **27** (1975), 17-24.
- [5] I. CHAVEL; On normal Riemannian homogeneous spaces of rank one, Bull. Amer. Math. Soc., **73** (1967), 477-481.
- [6] J.E. D'ATRI AND W. ZILLER; Naturally reductive metrics and Einstein metrics on compact Lie groups, Memoirs of the American Math. Soc., number **125** (1979).
- [7] H.I. ELIASSON; Die Krümmung des Raumes $Sp(2)/SU(2)$ von Berger, Math. Ann., **164** (1966), 317-323.
- [8] G.R. JENSEN; Einstein metrics on principal fibre bundles, J. Differential Geom.

- etry, **8** (1973), 599-614.
- [9] S. KOBAYASHI AND K. NOMIZU; Foundations of Differential Geometry Interscience tract., vol. II. 1969.
- [10] H.S. RUSE, A.G. WALKER AND T.J. WILLMORE; Harmonic Spaces, Edizioni Cremonese, Roma, 1961.
- [11] S. TANNO; Geodesic flows on C_L -manifolds and Einstein metrics on $S^3 \times S^2$, Minimal Submanifolds and Geodesics, Kaigai Publications, Tokyo, 1978, 283-292.
- [12] Y. WATANABE; Riemannian metrics on principal circle bundles over locally symmetric Kählerian manifolds, to appear in Kodai Math. J., **5** (1982).
- [13] Y. WATANABE; A construction of non-homogeneous Einstein metrics by warped product, Toyama Math. Rep. Toyama Univ., **4** (1981), 129-134.

DEPARTMENT OF MATHEMATICS,
TOYAMA UNIVERSITY,
TOYAMA, JAPAN